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GXFz HiE $150%x22° 1/2 | {& 7. 0410 0410 x( 3 + 4 + ) = 2870
mZ
GXFz HiE $150x22° 1/2 | @& 1, 0.140 0.140 x( 1 + + ) = 0.140
GX# 75K-Fz =2 759 %k
EEBERRIT HTFEE $150% ¢ 75 & 2| 0530 0530 x( 2 + + ) = 1.060] ZE&R
GXfz MEdH ¢ 150 & 1] 0.240 0.240 x( + 1 + ) = 0.240
(1) 0.020 0020 x( + 1 + ) = 0020 ME®REA
GXf; MREE ¢ 150 & 1/ 0.020 0020 x( 1 + + ) = 0.020
(1) 0.420 0420 x( + 1 + ) = 0420 MEHEA
GXf; RiELAZRE 200 % ¢ 150 1&
GXfz MZYIM-ME T FH ¢ 150 7" 1] 0.220 0.220  x( + 1 + ) = 0220
7.5K-fz =2
GXf; EE25 ¢ 150 & 1] 0.400 0400 x( + + 1 ) = 0.400
(1)) 0.039 0039 x( 1 + + ) = 0.039 HkigTHE
GX#tz 74t ¢ 150 @ 12/ 0.039 0039 x( 8 + 4 + ) = 0468
GXF' 984 VLI E 1=y SUS304BN-T LSS T
P—Link ¢ 150 & 2| 0233 0233 x( 1 + 1 + ) = 0.466
GXF' 984 VLI E 1=y SUS304BN-T LSS T RER() EERe) EER@ME EA
G—Link ¢ 150 # 12 7+ 5  + - = 12
GXF4 744V FAYIE 1=yh SUS304BN- T AR E L BER()  EBEERQ 2 EREER@ME EAE
G—Link ¢ 200 # 1 + 1 + - = 1
SUS304BN - 1" Al - 1Rk 2pEs0 G-Link
GXI EMEREETM ¢ 150 #H 18 30 — 12 = 18
EBERMITY ATEE BER() EBERQ BERQSE
GHXAEERE) $150x ¢75 | A (1] 0530 053 x( 1+ + ) = 0530 HkigTHL
$25- 2% BER() EBERQ BERQSE
EEERNSEESS  WA@EMA-15K | H 1 1 + + = 1
¢ 75-H150- 75Kz = 2
F-LEGEES FCD | RS EHRE- LN -K | 1 1+ + = 1
wWieHHA 7.5K
13V R ER 75 & 1 1 + + = 1
7.5K
13V R ER 75 1& + + =
7.5K
13V R ER ¢ 150 & 1 + + 1 = 1
BRER(Q2)5 K
AY-METIF ¢ 150 7.5K H 1 0.280 0280 X 1 = 0.280
7.5K BRERQ2)5 K
FCD75vv'& ¢ 150 ® 1 1 = 1
BEEER = 277.157




DIP-GX & 150mmBikKEfRRT HEBFtHEE

T ¢ 150mm 25 R I @ 25mm 15

RS £ #8Y.0.70m~1.40m NO. 1
& 4 R
I/ g _# BRTZE g % & B _Z
¢ 150- F A BER() EREHQ 2 EREERQSE
77UV 0 Ak 7.5K P54 1 + + 1 = 1 HekF
RFRSYT FEN Ayb
IV FEH ¢ 150 SUS304BN-7.5K #f 1 + + 1 = 1 Bk
b 75- AR
77UV 0 Ak 7.5K " 1 1 + + = 1 ERF
® 75-GFRZH Afryb
750V F SUS304BN-7.5K | #H 1 1 + + = 1 TEH
AT R FIE R BEER
FYIFLURY-7 ¢ 1508 m | 365.8 277157 x {60 x (1 4+ 01) + 50} = 365847
100m L)
#ET-7 ¢ 150 m 231.7 277157 x 836 + 100 = 231.703
ERER WSt 4UF EAE ERH
ERRT-7 W=50 m 275.1 277.157 — 0220 — 0.280 — 1.060 — 0.530 = 275.067
TEEE W2t 4UF  EE ERH
HERAZS b W=150 2% m 274.3 276.439 — 0.220 — 0.280 — 1.060 — 0.530 = 274.349
¢ 250 H=0.70
tOFRE%E CR1ErY 'R P54 2 2 = 2
Tt ¢ 250
LY UiR'y9R AR H=50 & 2 2 = 2
Tt ¢ 250
LY UiR'y9R L& H=150 & 2 2 = 2
Tt ¢ 250
LY UiR'y9R &0 () H=40 {& 2 2 = 2
¢ 500 H=0.70
ERARANBE Af3E " 1 1 = 1
ERFH ¢ 500
LY UiR'y9R L& H=200 & 1 1 = 1
ERFH ¢ 500
LY UiR'y9R TE& H=300 & 1 1 = 1
ERFH ¢ 500
LY UiR'y9R JE&0 () H=40 {& 1 1 = 1




DIP-GX & 150mmBikKEfRRT HEBFtHEE

EfE- 0% DIP-GX ¢ 150mm: L=138.947m(138.367m)+136.750m(136.612m)+1.460m(1.460m)=277.157m(276.439m)

Y1 F: ¢ 150mm 2%

I 0 25mm 15

RS £4Y:0.70m~1.40m NO. 1
& 4 R
I/ g _# BRTZE g % & B _Z
FE ERT)
W2 Tt
SBHERIAREMAT W @150 m 276.7| 277.157 — 0220 — 0.280 276.657
BEEES BE ByE
GXfts #F T ¢ 150 BT 54 471 + 7 54
EnREES EREESHM
GXfs ##F T ¢ 150 (&7 18 18 18
BEREP-LinkiES P-Link
GXfs ##F T ¢ 150 (&7 2 2 2
BENREG-LinkiES G-Link
GXfs ##F T ¢ 150 (&7 12) 12 12
BENREG-LinkiES G-Link
GXfs ##F T ¢ 200 (&7 1 1 1
DERE
HSEUT ¢ 150 [m] 13| 13 13
IV HET $150 7.5K =] 20 1 + 1 2
W2 Tt
HOHEET ¢ 150 = 2 1 + 1 2
ERFHET b 25 = 1 1 TR - WEF 1
170V BFT $75 7.5K [m] 1 1 wWER - FHTE 1
EREG-LinkiES BEERE
GXFEFESILT ¢ 150 =] 1 1 1
EREES
GXMEF S LT ¢ 150 a
EREG-LinkiES BEERE
GXMEFESILT ¢ 200 =] 1 1 1
EREES
GXEFIRMLT ¢ 200 a
BEEX EIB T ¢ 200 [m] 3 3 3
®HHE BEER
B ERERYAH ¢ 150 m 2.1 1 x 2110 2110
HET-7
FYIFLVAY-THEL ¢ 150 m | 2772 277.157
BEHRT-7 L W=50 m 275.1 275.067
WS- T W=150 2% m 274.3 274.349
EKEERT BRER B m 273.7| 277.157 — 3.410 273.747
avhY-rERYEL m? 1 120 x 055 x 175 1.16
¢ 150
BEHYAERE BREL H=0.70 (&7
¢ 250 H=0.70
EUHFABKEREAT CR1ErY 'R (&7 20 2 2
Tt ¢ 250
LY Uiy IR BT T =M H=50 2 2 2
Tt ¢ 250
LY Uiy IR BT T L& H=150 20 2 2
Tt ¢ 250
LY Uiy IR BT T JE&0 () H=40 {& 2 2 2
¢ 500 H=0.70
ERAABERMAT A= (&7 1 1 1
ERFH ¢ 500
LY Uk AR T L& H=200 1 1 1
ERFH ¢ 500
LY Uiy IR BT T T& H=300 1 1 1
ERFH ¢ 500
LY Uiy IR BT T JE&0 () H=40 {& 1 1 1




DIP-GX & 150mmBikKEfRRT HEBFtHEE

T O 150mm 25 L HF: ¢ 25mm 1&

ek &M £#8Y:0.70m~1.40m NO. 7
& 4 R
I/ g _# BRTZE g % & B _Z
(1]
¢ 150
Bl TD-1 EESEGB-10-10) | m 261.7 06 + 1022 + 330 + 844 + 400 + 15 261.7
¢ 150
EHILTQ E &4 B (5-15-15) | m 12.2 122 12.2
¢ 150
EHILT@-1 EE 48 (5-10-10) | m 3.2 3.2 32
¢ 75
EHIET®-3 EE 4B (5-10-10) | m 0.8 08 0.8
[tET]
LSP-2% W=250 | il +T@-1
BEMRIR-TAHT KHREFE2.0m m 3.2 32 3.2
LSP-2% W=250 | il
Z2MER5IRT EHrFE2.0m m 3.2 3.2 3.2
BESE 1B
XEMEE-BE EHIE=<2.0m m 3.2 3.2 32




FiK%& DIP-GX ¢ 150 HIEFE PR  BNOVESE RO = 0.68n  ZUIE = 0.77m
o) 4o ) )
178 &t 53 LT
R E & iR E &|EE BRK | E SBE BR OE S|1ES BR OE X
= GX-G| 3.855 3855 | 1.145| 1
3.86 7% % 5% %
o= GX-P | 3.925 GX-G | 0.790 4715 0.285| 2
3.93 7% 7% % 0.79
= GX-G | 3.682 GX-G | 0.790 4472 | 0528 2
3.68 5% 7% 5% 0.79
o= GX-G  2.551 GX-G | 1.640 4191 0809 2
2.55 7% 7% % 1.64
= GX-P | 3.667 GX-G | 0.860 4527 0473 2
3.67 5% 7% 5% 0.86
o= GX-G  2.551 GX-G | 1.090 3.641 | 1.359| 2
2.55 7% 7% 7% 1.09
= GX-G| 2.053 GX-G | 1.300 3353 | 1.647| 2
2.05 5 7% 5 1.30
¢ 200 GX-G | 1.000 1.000
1.00
4% DIP-GX ¢ 150(STE%) L = 5,000 7 K 29.754|  6.246[ 13




T I ¥ R & i %
No. 1 NO. 1 TID-1 NO. 2 TI®Q NO. 3 TI@-1 NO. 4 TI®D-3 NO. 5 NO. 6 NO. 7 NO. 8
150mm DIP-GX B K& 261.7 “EE L 12.2 “EE L 3.2 “EE L 0.8 “EE L “EE L “EE L “EE L “EE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 523. 40 2.00 24. 40 2.00 6.40 2.00 1.60 555.80 )| ( 560 )
SEUIMT t=15cmA T m
AsEiZEhR 0. 60 157.02 0.60 7.32 0.90 2.88 0. 60 0.48 167.70 ) ( 168 )
SRR T [t=10cmA T m2
BHO. 28m3 0.49 128.23 0.49 5.98 1.37 4.38 0.44 0.35 138.94 ) ( 140 )
AR R T MEL m3
BHO. 28m3 0.20 52.34 0.20 2.44 0.31 0.99 0.17 0.14 55.91 ) ( 60 )
HERT BER m3
BHO. 28m3 0.15 39.26 0.09 1.10 0. 86 2.75 0.15 0.12 43.23 )] ( 40)
HHIERT HESL m3
(RC-30) 0. 60 157.02 0.90 2.88 0. 60 0.48 160. 38 )| ( 160 )
TRERET t=10cm m2
(RC-40) 0. 60 7.32 7.32)|( 1)
TREERET t=15cm m2
(RM-30) 0. 60 157.02 0.90 2.88 0. 60 0.48 160. 38 )| ( 160 )
LRERET t=12cm m2
(M-40) 0.60 7.32 7.32)|( 1)
LRERET t=17cm m2
BAZTHLAs13mm 0.60 157.02 0.60 7.32 0.90 2.88 0. 60 0.48 167.70 ) ( 168 )
B R 18 16 t=3cm m2
BitunT 0.32 83.74 0.39 4.76 0.41 1. 31 0.27 0.22 BEFRA 90.03 )| ( 90 )
(£8) 4tDT m3, 16. 50 73.53 70
BitunT 0.03 7.85 0.03 0.37 0.05 0.16 0.03 0.02 8.40 ) ( 8)
(AS) 4tDT m3,
2AE 0.07 18.32 0.07 0.85 0.1 0.35 0.07 0.06 19.58 )| ( 19.6)
ASH% t
EESE 0.60 157.02 0.90 2.88 0. 60 0.48 160. 4
HREREIR (5-10-10) m2,
EESE 0. 60 7.32 1.3
HREREIR (5-15-15) m2,




+ I # it B =
No, 1
Mgk s =  (@D-1 DIP$150 L= 261.7 m
Brigi B = [HEAE (5-10-10) H= 0.70 m
gEREE = 0170 X 0170 X =z / = 0.023
= R = X X T /
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X ( 0.87 0.05 )= m3 0.49
T BHO.28m3
K NFRED AR 1.00 X 0.60 X 0.37 0.023 = m3 0.20
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.25 m3 0.15
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEA ST 4DT PEHE] 1 A+
FEAA 1+ 049 —( 0.15 = 0.90 )= m3 0.32
FELH T 4tDT
FEAZL TR 1.00 X 0.60 X 0.05 m3 0.03
TAE
TAT7 /iR 0.03 X 220 = t 0.07




T I #% E & & EBE
No,2
a5 = @ DIPp150 L= 12.2 m
Brigis B = [HEAE (5-15-15) H= 0.70 m
sERE = 0170 X 0170 X x / 4 = 0.023
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBEre (=15emIL T 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.000 X 0.60 X( 0.87 — 0.05 )= m3 0.49
HHEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.37 — 0.023 = m3 0.20
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.15 = m3 0.09
TSI T (RC-40)
t=15cm 1.00 X 0.60 = m2 0.60
_/E AT (M—40)
t=17cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
F LT 4DT P+ A+
FBUAL | 0.49 —( 0.09 =+ 0.90 )= m3 0.39
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR77 /b 0.03 X 220 = ¢ 0.07




+ I # it B =
No,3
B 2 % @-1 DIP$150 L= 3.2 m
BriEr s 7 [FRE AR (5-10-10) H= 1.40 m
2 B 0.170 X 0170 X ~ / = 0.023
= R X X z / =
Im2%47
% B EA H | & & =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.90 = m2 0.90
A T. BHO.28m3
b A - T - 1.00 X 0.90 X( 1.57 — 0.05 )= m3 1.37
HHEE T BHO.28m3
LN AR 1.00 X 0.90 X 0.37 — 0.023 = m3 0.31
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.90 X 0.95 = m3 0.86
TSI T (RC-30)
t=10cm 1.00 X 0.90 = m2 0.90
/BT (RM-30)
t=12cm 1.00 X 0.90 = m2 0.90
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
FEAHG T 4DT P+ A+
FBUAL | 1.37 —( 0.86 =+ 0.90 )= m3 0.41
FE T 4DT
TGS TR 1.00 X 0.90 X 0.05 = m3 0.05
TAE
TR 7/ 0.05 X 220 = ¢ 0.11




+ I # it B =
No,4
W s =  @D-3 VILPg75 L= 0.8 m HAE
Brigi B = [HEAE (5-10-10) H= 0.70 m
EHEEE = 0090 X 009 X =z / = 0.006
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
- A - FEE A 1.00 X 0.60 X( 0.79 — 0.05 )= m3 0.44
T BHO.28m3
K NFRED AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.25 = m3 0.15
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEA ST 4DT PEHE] 1 A+
FEAS 177 044 —( 0.15 = 0.90 )= m3 0.27
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TAT7 /iR 0.03 X 220 = t 0.07




HPPE ¢ 7TS5mmEKEHRT HEHEE
E1E - O7% HPPE ¢ 75mm:L=7.088m(6.218m)
U5 o 7omm 1E HESFF: & 25mmi1E
Ek & £ 41:0.70m~1.85m NO, 3
E 4 R
TIiE £ & BRTZE B # 8| Bk 1w _Z
JKEEIKE A TL-VINEE
H# RYIFLVE ¢ 75 x 5,000 & 1 YIERELY = 4919 YIEA
FIFLUE A w2
EF45° AN ¢ 75 x 45° 1@ 3| 0.380 0.380 X 3 = 1.140
FIFLUE A g
EF45° AN ¢ 75 x 45° 1@ 1| 0.480 0.480 X 1 = 0480
®YIFLUER GF-7.5K
FCD A%75vY b 75 & 0.160 0.160 X =
7.5K
PCEE1E ¢ 75 & 1] 0.093 0093 X 1 = 0.093
®YIFLUER
EFYyh 75 & =
7.5K
YIRS @75 & 1] 0.240 0240 X 1 = 0.240
PCY3{ub ¢ 75 & 1] 0.046 0.046 X 1 = 0.046
GI=iE %) (1) 0.170 0170 x 1 = 0170 ##iE
(GXFz FRTFE) $150% ¢ 75 & x = $150TE L
"YIFLVER
YR MAF 5 KEE ®75% ¢25 & 1 1 = 1
H=700
BRI HER A ¢ 25 = 1 1 = 1
7.5K
770V HHEEE 75 & 2 2 = 2
EEERE = 7088
¢ 75-3 AR
770V 0 Ay 75K 8 2 2 = 2 e
A-TR FIE R EEER
2BEMER-T ¢ 75H m 9.4 7088 x {60 x (1 + o01) 50} = 9.356
100mY
BEEA-TRAT-7 m 37 7088 x 510 -+ 100 = 3615
BFRER To#
BHBRRT-7 W=50 m 6.8 7088 —  0.240 =  6.848
T FTEER To#
BERAEE b W=150 2{% m 6.0 6.218 — 0.240 = 5978
¢ 250 H=0.70
YRS CR154Y'K " 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR FHEEH H=100 [E] 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR L T& H=150 [E] 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR [EER(Ffz) H=40 | & 1 1 = 1
¢ 350 H=0.70
ERTAKE A28 " 1 1 = 1
ELFA ¢ 350
LY UK vHR L& H=150 [E] 1 1 = 1
ELFA ¢ 350
LY UK vHR £8 H=200 [E] =
ELFA ¢ 350
LY UK vHR T& H=300 [E] 1 1 = 1
ELFA ¢ 350
LY UK vHR [EER(FH#fZ) H=40 | {& 1 1 = 1




HPPE ¢ 7O mmElKETERT HESHES
TU3: @ 75mm 15 PRI @ 25mmiE

&M+ 14Y:0.70m~1.85m NO. 3
E 4 R
TIiE £ & BRTZE S H & 1w _Z
FE €FEomm|
RbIE HoH
RYIFLVERGT @75 m 6.8] 7.088 — 0.240 =  6.848
a#F) EE RYE Fra5° 45° a2 a
EF#¢F T ¢75 [m] 7 + + 1 + 3 x 2 + = 7
yERELY
FYIFLEYIET @75 [m] 4] 4 = 4
$Ek(15%15 L) PCYa{ub
FHhVEFET ¢ 75 [m] 1 1 = 1
®YIFLUER PCY'3{Vh PC1&
MZhVEFT ¢75 [m] 2 1 + 1 = 2
BB FRET @75 X 1 1 = 1
FYIFLVE
RKRETAAT ®75% ¢25 [El7i 1 1 = 1
ERAZEL 25 m] 1 1 = 1
HG%E B E
BIER BV T @75 [m] 2] 2 = 2
HG%E B E
BREHERYRAH ¢ 75 m 1.0 1 X 1.000 = 1.000
REEA-THEEBET ¢ 100 m 7.1 = 7088
EHRRT-7 L W=50 m 6.8 =  6.848
T3
BERRS T W=150 2% m 6.0 = 5978
EEKE
BKEHERT BEER B i m 71| 7088 = 7.088
® 250 H=0.70
EUFAKSEET CH1E+Y'R (5178 11 = 1
oA ¢ 250
VY Uk RRIT T SHEH: H=100 & 1 1 = 1
[snIFC 0z ¢ 250
LY Uk ) ABR T L T& H=150 & 1 1 = 1
[snIFC 0z ¢ 250
LY Uk AR T JEER (FAfZ) H=40 | {& 11 = 1
¢ 350 H=0.70
ERFAKEEAT M5 &1z 11 = 1
ELFA ¢ 350
LY Uk ) ABR T L& H=150 & 1 1 = 1
ELFA ¢ 350
LY Uk ) ABR T T& H=200 & =
ELFA ¢ 350
LY Uk ) ABR T £8 H=300 & 1 1 = 1
ELFA ¢ 350
LY Uk AR T JEER (AfZ) H=40 | {& 11 = 1
(+T]
¢75
fEHI+ TD-3 EEHE m 08| 08 = 08
¢75
EHlI+ T@-2 EEHE m 26| 26 = 26
¢75
EAHLEI® HEHEE m 12| 12 = 12
¢75
EHILI® HEHEE m 16| 16 = 16
¢75
EHLI® HEHEE m 08| 08 = 08
[+88T]
LSP-2% W=250 | Al +I@-2 +I6
BEMERR-TAHT KiRF2.5m m 42 26 + 1.6 = 42
LSP-2% W=250 | Al
BEMRIR5RT KiRFE2.5m m 42 4.2 = 42
BEERE 1K
XIEMEBE - HE REIR=2.0m m 42 4.2 = 42




HPPE ¢ 7TS5mmEKEHRT HEHEE

TU3: @ 75mm 15 PRI @ 25mmiE

e £ 41:0.70m~1.85m

& H R
I7E & _# BRT % i & &
HH
(P& 9)—h) 0.50 X 0.30 X 0.50 | BT 1] BEESRMEtIH 675
frE€a>o)—rT 18N-8-20 m® 0.1 (0.50% 0.30 - /4 x 0.09°) X 0.50 = 0072
FERBT INEI(T) m’ 0.6 (050 +050) X 2 X 0.30 -~ 71/4 X 0.09> X 2 = 0587




Ad/K& HPPE ¢ 75 B FHE FNVESTE RO - CHVE = 0.25

Z b . .
B g % L
W X Fe R E I|FEE R E IEE B R &IFEE BRI E E|FE BRE & i e
a PP 1.246] b PP 1.745| ¢ PP | 0.964] d PP | 0.964 4.919 0.081 | 4
1.25 1.75 0.96 0.96 23 534

FL—r T RE® HPPE ¢ 75 L =5,000 1 ZN 4.919( 0.081| 4




T I ¥ R K i %
No. 3 0. 1 TI®D-3 NO. 2 TI@-2 NO. 3 TI® NO. 4 TIG NO. 5 TI® NO. 6 NO. 7 NO. 8
75mmHPPEEC K & 0.8 “EE L 2.6 “EE L 1.2 “EE L 1.6 “EE L 1.0 =& N “EE L “EE L “EE L
SEE L SEE L SEE L SEE L =g&ifr N SEE L SEE L SEE L
£ i i 1 & & BER=
AsEliZEhR 2.00 1.60 2.00 5.20 2.00 2.40 2.00 3.20 3.20 3.20 15.60 )| ( 16 )
SEUMT t=15cmA T m
AsEiZEhR 0. 60 0.48 0.60 1.56 0. 60 0.72 1.40 2.24 0. 64 0.64 5.64 )| ( 6)
SHERREFA T [t=10cmA T m2
BHO. 28m3 0.44 0.35 1.13 2.94 0.44 0.53 2.64 4.22 0.63 0.63 8.67 )| ( 9)
AR R T ME L m3
BHO. 28m3 0.17 0.14 0.17 0.44 0.17 0.20 0.40 0.64 0.27 0.27 1.69 ) ( 2)
HHERT BER m3
BHO. 28m3 0.15 0.12 0.84 2.18 0.15 0.18 1.96 3.14 0.16 0.16 5.78 )| ( 6)
HERT HESL m3
(RC-30) 0.60 0.48 0. 60 1.56 0. 60 0.72 1.40 2.24 0. 64 0.64 5.64 )| ( 6)
TREERET t=10cm m2
(RM-30) 0.60 0.48 0.60 1.56 0. 60 0.72 1.40 2.24 0. 64 0.64 5.64 )| ( 6)
LRERET t=12cm m2
BAZTHLAs13mm 0.60 0.48 0.60 1.56 0. 60 0.72 1.40 2.24 0. 64 0.64 5.64 )| ( 6)
B R 18 16 t=3cm m2
BitunT 0.27 0.22 0.20 0.52 0.27 0.32 0.46 0.74 0.45 0.45 2.25)|( 2)
(£8) 41DT m3
BitunT 0.03 0.02 0.03 0.08 0.03 0.04 0.07 0.11 0.03 0.03 0.28 )| ( 0.3)
(AS) 4tDT m3,
2AE 0.07 0.06 0.07 0.18 0.07 0.08 0.16 0.26 0.07 0.07 0.65 )| ( 0.7)
ASH% t
EESE 0.60 1.56 1.40 2.24 3.8
HRE{REIR (5-10-10) m2,
TEEE 0.60 0.48 0. 60 0.72 0. 64 0.64 1.8
HREREIR (5-10-10) m2,




H
H
32
il
o
o
i

No,2
Wrg#s = (A-3 HPPE$75 L= 0.8 m
by = [HEAE (5-10-10) H= 0.70 m
EHEEE = 0090 X 009 X =z / = 0.006
R = 0090 X 009 X x / 4 = 0.006 (FFEFE)
Im2%47
% B EA H | & & i =
BRI T
AsEHEEIK t=15cmIL T 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
W A BEE A 1.00 X 0.60 X( 0.79 — 0.05 )— 0.006 =| m3 0.44
HHET. BHO.28m3
LLNFEESD AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HHET. BHO.28m3
LGRS FAE A 1.00 X 0.60 X 0.25 = m3 0.15
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEFH T 4DT mElt+ mHEt
FBUAL | 0.44 —( 0.15 = 0.90 )= m3 0.27
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR 7 0.03 X 220 = ¢ 0.07




H
H
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o
o
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No,2
Wrigids = @-2 HPPE$75 L= 26 m
By = [FHEAE (5-10-10) H= 1.85 m
EHEEE = 0090 X 009 X =z / = 0.006
R = 0090 X 009 X x / 4 = 0.006 (FFEFE)
Im2%47
% B EA H | & & i =
BRI T
AsEHEEIK t=15cmIL T 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
W A BEE A 1.00 X 0.60 X( 1.94 — 0.05 )— 0.006 =| m3 1.13
HHET. BHO.28m3
LLNFEESD AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HHET. BHO.28m3
LGRS FAE A 1.00 X 0.60 X 1.40 = m3 0.84
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEFH T 4DT mElt+ mHEt
FBUAL | 1.13 —( 0.84 =+ 0.90 )= m3 0.20
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR 7 0.03 X 220 = ¢ 0.07




+ T it B =
No, 1
WG EE = B HPPE$75 L= 12 m
Brigis B = B #E (5-10-10) H= 0.70 m
EHEEE = 0090 X 009 X =z / = 0.006
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 0.79 — 0.05 ) m3 0.44
T BHO.28m3
K NFRED AR 1.00 X 0.60 X 0.29 — 0.006 m3 0.17
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.25 = m3 0.15
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAA 1+ 044 —( 0.15 + 0.90 )= m3 0.27
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07




H
H
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o
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No,3
a5 = B HPPE$75 L= 16 m
Bt 7 = HrEHgE (5-10-10) H= 1.85 m
EHEEE = 0090 X 009 X =z / = 0.006
R = 0090 X 009 X x J 4 = 0.006 FF#E)
Im2%47
% B EA H | & & =
BRI T
AsEHLE t=15emLL T 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 140 = m2 1.40
A T. BHO.28m3
W A BEE A 1.00 X 1.40 X( 1.94 — 0.05 )— 0.006 =| m3 2.64
TR 1. BHO.28m3
LLNFEESD AR 1.00 X 1.40 X 0.29 — 0.006 = m3 0.40
HHET. BHO.28m3
LGRS FAE A 1.00 X 1.40 X 1.40 = m3 1.96
TSI T (RC-30)
t=10cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=12cm 1.00 X 1.40 = m2 1.40
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 1.40 = m2 1.40
TEFHGy 1. 4eDT e+ T
FEASL 1 2.64 —( 1.96 =+ 0.90 )= m3 0.46
FE T 4DT
TGS TR 1.00 X 1.40 X 0.05 = m3 0.07
EIN:
TR 7 0.07 X 235 = ¢ 0.16




T I #% E & & EBE
No,4
BrigiEe = @® DIP$75 L= 0.8 m XIEF=0.8m (FFERAEI7)
Bt 7 = HrEHgE (5-10-10) H= 0.70 m
B = 0090 X 0090 X z,/1 X 080 = 0.005
S pEsE = 0.500 X 0.300 X 0.500 = 0.075
15972450
% B EA H | & & =
BRI T
AsEHRERE t=15cmbL T 080 X 2 + 080 X 2 = m 3.20
LN T
AsBHEER t=10cmll 0.80 X 0.80 = m2 0.64
A T. BHO.28m3
BRI A BEE - 0.80 X 0.80 X( 1.05 — 0.05 )— 0.005 =| m3 0.63
HHEE T BHO.28m3
LLNFEESD AR 0.80 X 0.80 X 0.55 — 0.075 = m3 0.27
HHEE T BHO.28m3
LGRS FAE A 0.80 X 0.80 X 0.25 = m3 0.16
TSI T (RC-30)
t=10cm 0.80 X 0.80 = m2 0.64
/BT (RM-30)
t=12cm 0.80 X 0.80 = m2 0.64
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 0.80 X 0.80 = m2 0.64
LML 4DT wmElE WAL
FBUAL | 0.63 —( 0.16 =~ 0.90 )= m3 0.45
FE T 4DT
TGS TR 0.80 X 0.80 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 235 = ¢ 0.07




fKEMRLI (RE @ 150mmDIP) #E8B5HEE

&E- 0% PEP ¢ 20mm X 5&FT_PEP ¢ 25mm X 17T

FER M T #8Y :0.60m NO, 5
g 4 R
TiE £ K TZE S % & H %
#H#
HExEH A1447° 3
Y5 K iE ¢ 150% ¢ 20 5 5 A25847° 2 5
HexE R B447° 1
YL {E 5 K iE $150% $ 25 1 1 1
$Ra7 20 & 5 5 5
$Ra7 b 25 & 11 1
¢ 20 ¢ 25
LEKEER )R FCD =R #! & 6] 5 + 1 6
FE (ERT]
B E R
RKEETAAT $150% ¢ 20 G331 5
B E R
RKEETAATL $150% p 25 G331 1
HI7EAL ¢ 20 G331 5
HI7EAL 25 331 1
MIH A1447° HRERTY
FRKEERT PEP ¢ 20 AT 3|L=35m x 3fFAT L=3.5m
MIH A2547° HRERTY
HRKEERT PEP ¢ 20 AT 2/1=32m x 2f&FT L=3.2m
MId B447° HREETY
MKEBERT PEP ¢ 25 (5178 1]L=3.5m x 1E5FF L=3.5m
(£T]
¢ 20-25
EHLID EEHE(5-10-10) | m 18.0]  18.0 18.0




T I ¥ R & i %
No.5 NO. 1 TI®D NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HIKE (KE B 150mmDIP) 73R 18.0 =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 36.00 36.00 ) ( 36 )
SEUIMT t=15cmA T m
AsEH%E IR 0.50 9.00 9.00)][( 9)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.29 5.22 5.22)|( 5)
AR R T MEL m3
BHO. 13m3 0.1 1.98 1.98 ) ( 2)
HERT BER m3
BHO. 13m3 0.08 1.44 1.44 )| ( 1)
HHIERT HESL m3
(RC-30) 0.50 9.00 9.00 ) ( 9)
TRERET t=10cm m2
(RM-30) 0.50 9.00 9.00 ) ( 9)
LRERET t=12cm m2
BEZRH As13mm 0.50 9.00 9.00 ) ( 9)
B R 18 16 t=3cm m2
RitunT 0.20 3.60 3.60 ) ( 4)
(£8) 2tDT m3
RitunT 0.03 0.54 0.54)|( 0.5)
(AS) 2tDT m3,
ZAE 0.07 1.26 1.26 ) ( 1.3)
ASH% t
EESE 0.50 9.00 9.0
HRE{REIR (5-10-10) m2,




+ I # it B =
No, 1
a5 = @  PEP$20-25 L= 18.0 m
Brigi B = [HEAE (5-10-10) H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
Wb A FEE £ 1.00 X 0.50 X( 0.63 — 0.05 )= m3 0.29
i T BHO. 13m3
K NFRED AR 1.000 X 0.50 X 0.23 — 0.001 = m3 0.11
i T BHO. 13m3
LG TN A 1.00 X 050 X 0.15 = m3 0.08
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
FEALHG T 20DT PEHE] 1 A+
FEAA 1+ 0.29 —( 0.08 = 0.90 )= m3 0.20
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.05 = m3 0.03
TAE
TAZ7 b 0.03 X 220 = ¢ 0.07




BNERETL HES5HES
RO HREES IN=1)
k& T Y:0.70m NO. 4
& 4 R
I £ _# BRTE Bl y & sHE B _F
GXT 7.5K-fz =2 ERER(1)
HH | EBESRNIS HTEE ®150% 75 & 1] 0530 0530 x 1 0.530| e
EEER®)
GXfz 747 ¢ 150 @ 1 0.039 0039 x 1 0.039
SUS304BN- 1" L - 1R 8k BRpE20
GXF: B ERES M $ 150 # 1 1 1
® 75 W @A EREE(1)
A P BQO-75K # 1 1 1
¢ 75-H150-7.5K-Fz =2
F-VEEES FCD | RS ESE LV - & 1 1 1
¢ 75-3 AR
77990 Rk 7.5K P54 1 1 1
¢ 75-GFRH Ryt
750V B F SUS304BN-7.5K | #f 1 1 1
wiesHA 7.5K
77V R E R 75 1 1 1
¢ 500 H=0.70
HARERSE Af3E % 1 1 1
HAERA ¢ 500
LY UiR'y9R LE# H=200 & 1 1 1
AR ¢ 500
LY UiR'y9R TE& H=300 & 1 1 1
AR ¢ 500
LY UiR'y9R EEB (M) H=40 | {& 1 1 1




BNERETL HES5HES
RO HREES IN=1)
ek st £ 41):0.70m NO. 4
& 4 R
IiE g _# BRTZE g % & B _Z
FE (EHT)
EnREES EREESHM
GXfs ##F T ¢ 150 (&7 1 1
BpO
HARERET 75 = 1 1 HAKRR - iR
ISUCHET ®75 75K [m] 11 WER - FETE
¢ 500 H=0.70
HXERASEREMT M35 (&7 11
HXkIEHA ¢ 500
LY Uk IR BT L& H=200 1 1
HXkIEHA ¢ 500
LY Uk yIAB T T& H=300 11
HXkIEHA ¢ 500
LY Uk IR BT EEB(AR) H=40 | & 1 1
X E#R #H/E 1815cm BT 1 1 SHAREEY




NO, 7
& 4 R
IiE £ # BT g % & B _Z
FE (%BET)
SEEFRIOVY MI#
BEEIRT —REER m 70 BEEIER 70 = 7.0 BEEEMERR




PREREIT HBHES

ER T #81):0.60m~1.12m NO. 8
g 4 R
TiE £ K TZE S % & H %
B
FE ¢ E |
B ERELT % E ¢ 200 m 275.0 275.000 = 275.000
BRERET HBEOT5 m 7.1 7.100 = 7.100
BHERERT ¢ 200 [m] 91 275000 ~ 30 m/0 = 9
BHERERT @75 [m] 2 7100 + 30 m/O = 2
HEEERNIE 2RE ] 3 3 = 3
Ah797° e t | -11.63 11.630 = 11.630
BEERE N ERET G331 1 1 = 1
(£T]
¢ 200
BELID (% BB R D) m | 275.0| 2750 = 275.0




T I ¥ R & i %
No. 8 NO. 1 BEQD NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HREMET 215.0 =EEL SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsFHZERR )¢ )
SEUIMT t=15cmA T m
AsEH%E IR K )
SRR T [t=10cmA T m2
BHO. 28m3 0.20 55.00 55.00 ) ( 60 )
AR R T MEL m3
BHO. 28m3 ) ¢ )
HERT BER m3
BHO. 28m3 0.23 63.25 63.25 ) ( 60 )
HHIERT HESL m3
(RC-30) )¢ )
TRERET t=10cm m2
(RC-40) )¢ )
TREERET t=15cm m2
(RM-30) )¢ )
LRERET t=12cm m2
(RM-40) )¢ )
LRERET t=17cm m2
BEZHAs13mm K )
B R 18 16 t=3cm m2
BitunT -0.06 -16. 50 -16.50 )| ( -20)
(£8) 41DT m3 KAEZEINSRA
BimsT ) ¢ )
(AS) 4tDT m3,
ZAE )¢ )
ASH% t
EESHE
HREREIR (5-10-10) m2,
EEHE
HRE{REIR (5-15-15) m2




T I #% E & & EBE
fé?i\b NO,]
Wrigd s = @D  DIP$200 L= 2750 m
gt B = (Bl & )
s = 0220 X 0220 X x / 4 = 0.038
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsEHEEIK t=15cmIL T m
BHEERR A T
AsBHEEK t=10cmLl T m2
et 1. BHO.28m3
- A - FEE A 1.00 X 0.60 X 0.39 — 0.038 =| m3 0.20
HEEZ 1. BHO.28m3
S NFEIED PR m3
HEEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.39 = m3 0.23
AT (RC-30)
t=10cm mZ2
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
LT 4DT mElt+ dAt
FEAS 177 0.20 —( 0.23 = 0.90 )= m3 -0.06
FELH T 4tDT
FFAS TAT7/A b m3

AR
TRT 7Rk




Bl EEAEIR T BEERIER  No.6-1

& Al L1l Bk CRE v BAfr| i At R
F AR B R EAED (5-10-10)  692.4 [EiliED (5-15-15) 26. 6
FEEE#E (5-5-10-25) 3.3 ATEHLE (5-10-10) 27.8 Astrat 750.1 m2
SR T SRR I AsEHHER « t=15cmEl it 458 D (5-10-10) 4.5  [EEAHEE (5-15-15)
FEEE#E (5-5-10-25) 8.0  AiEHLE (5-10-10) 3.3 At 15.8 m m 15.8 16
ASERSSIRRGRE (i - g ®) (Bl KAE (R aH%E P TSR AT #Ekv 1604 i + 3.8 nf = 164.2 nof
(5-10-10) KaKE R R TARRHR EHIE T RE XY 9.0 nf
TGS S FHETHEHER AT #EXY 4.2 of #EF 2174 m3
ASHREEARRE R (A0S - Eii@) (WK (A FH THEFHR RAET #ELy 7.3 of
(5-15-15) KA AR A TARFER (AT KB LY
IS Rk fhHE THERR AT KB LY A 7.3 m3
SRR (2 - i) |BEKAE B TR AT £ELy 1.8 of
(5-10-10) KaKE R fhHE THERR AT KB LY
TGS ES TR AT £ELY 4.4 of #E 6.2 m3
AsEEERRAE: (R  |EEAED (5-10-10) BREEAMTIATRE  692.4 - (RAWSEAE 217.4 = 475.0 nf
[EEH4E@ (5-15-15) B IREAE  26.6 - (EEmAE 7.3 = 193 of
(=38 #3H (5-5-10-25) WEEAE IHmER 3.3 - (R = 33 o
T H3E (5-10-10) WA IR 27.8 - (EEmAE 6.2 = 21.6 of
IR ASHESENT - =10emBA T | (RBBERE  yp L a e, Ll REEE e e | 2309 231
wawEs 0 Moy SR + e~ i m2 | o192 >19




Bk AEAREIH L e AERE No.6-2

&5l Amo B O B = HAL| s it EHE
BPEMGE T |RRELE (AsE) I3 4538 (D (5-10-10) Isiie T
i i > = 217.4 X 0.03 + 475.0 X 0.05 = 30.3 m3
D (5-15- izt WEH
[HiEAHEQ@ (5-15-15) 7.3 X 0.03 + 19.3 X 0.05 = 1.2 n3
e (e e 1 iz -2 i
I8 #38 (5-5-10-25) X 0.03 + 3.3 X 0.10 = 0.3 m3
N iz i
B HE (5-10-10) 6.2 X 0.03 + 2.6 X 0.05 = 1.3 m3
A% 33.1m3 | m3 33.1 33
. BB
AsTSE NS ( 30.3 + 1.2 ) X 2.20 t/m3 = 69.3 ¢t
HTE A=
( 0.3 + 13 ) X 2.35 t/m3 = 3.8 ¢ R 731 3.1
e kb B (= EEAEQ, EEAGEQ, s (i EIEE R e
kL i HebiEn] (72 9) (2174 4+ 7.3 & 6.2 ) x 0.02 + 0,07 m3 4.6 5
A e A S m3 4.6 5
AT AR m3 4.6 5
EHEEART R[edk o il e A . .
HEEAEIRTLT | FREEE HIE T - Al A A 1 T 33 4+ 278 m2 311 31
« el b A
HRIE T “*ﬁfﬂ_ﬁ,m S AT I R 692.4 + 9266 m2 719.0 719
S () FPERIRIR QO = v0em | e A 1 5.3 e | a3 3
F (H5H) FPEBRL (20 taen B A A I T 3.3+ 21.8 m2 | 811 31
KIE (i) FPEBMUZ Q0] om0 @ A B R 692.4 + 26.6 n2 | 719.0 719
X T VA X R FEHR - B - W=15cemfft 7.0 m 7.0 7




'Jil&
i
i

spEAER B OB OE masao

BHEEAIE IR A EHIEAIE IR AsYIWT

oo EoOHE W ¥ E i E DIt &
[As t=5cm (5-10-10)] (BmEIEX X Y)
2.10 1 2.10
223. 00 586. 30
47.50 106. 10
2. 40 1 2. 40

AsEli%E1E IH 270. 50 692. 40 4. 50




J

i | sEEAEIH B3 EH E muswo
ERTEAIE I TR ERTEAIE N AsUIHT
H J=y BE M DA I - JIRS £ YW ik &
[As t=5cm (5-15-15)] (BEEEREY)
12. 20 26. 60
AsliZEE IHE 12. 20 26. 60 0. 00




i s 1 MEeAmER B OB OE @amn
ERTEAIE I TR ERTEAIE N AsUIHT
H s BE M DA I - JIRS £ YW ik &
[As t=10cm (5-5-10-25)] (BEEEREY)
7. 00 3. 30 8. 00 1 8. 00
AsliZEE IHE 7. 00 3.30 8.00

ESG:T

&t (1 -W=15cm)

7.0

7.0m




J

]illl_l.
i
i

spEAER B3 OB OE musw
EHAEARE N mfE EHLEARIE IR Ast) T

H J=y BE M W ¥k M JIRS ES Bt =

[As t=5cm (5-10-10)] (BEEEREY)
8. 00 27. 80 3. 30 1 3. 30
AsliZEE IHE 8. 00 27.80 3.30




SUS ¢ 150 ¢ 8OIRFZETER (WS T. PEP 20 * ¢ 25R#GKERR (HE) T HEHES
ETE- 0% SUS ¢ 150mm:L=288.418m(287.618m)+2.683m(2.183m)=291.101m(289.801m)
SUS ¢ 80mm: L=8.621m+2.123m(1.823m)=10.744m(10.444m)
MNLYE SUS ¢ 80mm:L=0.685m+0.669m=1.354m
R#EIK : @ 20mm X 5 AT+ ¢ 26mm X 1 FE AT

HREHE (RFRE) Y :0.95m~0.50m~FEH. (RIEKE) £#HY: 050m~5F NO., 9
&g 4 R
TiE g _# BRTZE H % 7 BHR B _Z
H# BE ke
{REZSUSE 4.0m & 1505315
(R ¢ 150 N 58  4.000 4000 x( 58 + ) = 232.000 3021.8
{REXSUSE 2.0m
(R 150 N 9  2.000 2000 x( 9 + ) = 18.000 251.1
{REXSUSE 1.0m
(R ¢ 150 N 7. 1.000 1000 x( 7+ ) = 7.000 110.6
{REXSUSE 0.5m
(R 150 N 9  0.500 0500 x( 9 + ) = 4500 88.2
{REXSUSE 0.3m
(R ¢ 150 N 2/ 0.300 0300 x( 2 + ) = 0.600 14.8
{REXSUSE 0.3m
WMERES 150 X 3 0.302 0302 x( 3 + ) = 0.906 441
{REXSUSE 1.6m
IWAE ¢ 150 X 12| 1.600 1600 x( 11+ 1 ) = 19.200 225.6
{REXSUSE 90°
I 150 & 4 0550 0550 x( 4 + ) = 2200 38.8
{REXSUSE 45°
I ¢ 150 & 1] 0.282 0.282  x( + 1 ) = 0282 7.3
{REXSUSE (1)) 0.145 0.145 x( + 1 ) = 0.145
F-2 $ 150 % ¢ 150 & 1 0378 0378 x( 1 + ) = 0378 125
REESUSE 0.126 0.126  x( + =
F-2 ® 150 % ¢ 80 & 4 0378 0378 x( 4 + ) = 1512 42.0
REZSUSE
NEIFANNT ¢ 150 ® 2 0.387 0387 x( 2 + ) = 0774 79.0
{REXSUSE
LY a4 ® 150 % ¢ 80 & 1 0.283 0283 x( 1 + ) = 0.283 3.9
{REXSUSE
BHEE $150% ¢ 20 LE] 5 0.202 0202 x( 5 + ) = 1.010 31.5
{REXSUSE
BHEE ¢ 150 x ¢ 25 & 1 0.202 0202 x( 1 + ) = 0.202 6.3
{RERSUSE 759"
e 3 b o= ¢ 150 & 2 0210 0210 x( 1 + 1 ) = 0420 21.2
{REXSUSE 2 x 2T
EHEE ¢ 150 LE] 1, 0016 0016 x( 1 + ) = 0016 6.0
{REXSUSE 21T xyuy
EHEE ¢ 150 LE] 1, 0.102 0102 x( 1 + ) = 0102 5.6
{RERSUSE ‘L Xy
e b o= ¢ 150 & 1] 0.200 0200 x( 1 + ) = 0.200 46
{REXSUSE
TR ¢ 150 & 1] 0.925 0925 x( 1 + ) = 0925 29.0
REZSUSE
LR BEOE ¢80 75K H 2 2+ = 2 18.0
REXSUSE =
SHXIE $80x @65 = 1 1 + = 1 45
H%ER 750V BG4
THIKTEE ¢ 200 x ¢ 150 LE] 1 0446 0.446 x( + 1 ) = 0446
susaz ¢ 150 LE] 1 = 1
H%ER
TEKE S LT F ¢ 200 = 1 + 1 = 1
RF!)7'{t&-SUS BN EEY
759 WFE ¢ 150 7.5K # 2 1 + 1 = 2
RE&FA
TUHFRAEYIR AyM 125 & 1 + 1 = 1 6.3
REER SUSH150 = 291.101
TERER SUS ¢ 150 287.618 + 2.183 = 289.801
HE FEKTE BESR A
H# I3V E ¢ 150 RF-7.5K ] () 1 = 1 B
RF!)7'{t&-SUS BN REKTE
750V FH ¢ 150 7.5K #H 1 1 = 1




SUS ¢ 150+ 6 SORMIEMI (M) T. PEP620 - ¢ 25[RISKEMR M T BEH NS
ETE- 0% SUS ¢ 150mm:L=288.418m(287.618m)+2.683m(2.183m)=291.101m(289.801m)

SUS ¢ 80mm: L=8.621m+2.123m(1.823m)=10.744m(10.444m)

MNLYE SUS ¢ 80mm:L=0.685m+0.669m=1.354m

R#EIK : @ 20mm X 5 AT+ ¢ 26mm X 1 FE AT

HREHE (RFRE) Y :0.95m~0.50m~FEH. (RIEKE) £#HY: 050m~5F NO., 9
&g 4 R
IiE g _# BRTZE H % 7 BHR B _Z
H# HE ke
REESUSE 4.0m GO P BRI
BE ¢ 80 ZN 1 4.000 4000 x( 1 + ) = 4.000 18.4
{REXSUSE 2.0m
BE ¢ 80 X 1 2.000 2000 X( 1 + ) = 2.000 9.7
{REXSUSE 1.0m
BE ¢ 80 X 1 1.000 1.000 x( 1 + ) = 1.000 5.4
{REXSUSE 0.3m
BE ¢ 80 X 1 0.300 0300 x( 1 + ) = 0.300 2.3
{REXSUSE 1.0m
IWAE ¢80 X 2| 1.000 1.000 x( 1 + 1 ) = 2.000 9.4
{REXSUSE 90°
I ¢80 X 1] 0.282 0.282  x( + 1 ) = 0282 24
{REXSUSE (1)) 0.126 0126 x( 1 + ) = 0.126 M
F-2 ¢ 150 x ¢ 80 & $150TE L
{REXSUSE (1) 0.088 0088 x( + 1 ) = 0.088
F-2 $80x ¢80 & 1 0.226 0226 x( 1 + ) = 0.226 3.3
{REXSUSE
=L ¢80 ® 1] 0.269 0.269 x( + 1 ) = 0.269 9.5
{RERSUSE 759"
EREE ¢80 N 1 0.160 0.160  x( + 1 ) = 0.160 5.2
BEER 750V BG4
THIKTEE b75% p75 LE] 1, 0.293 0293 x( + 1 ) = 0293
RF!)7'{t&-SUS BN REKTE
750V FH ¢ 75 7.5K #H 1 1 = 1
REER  SUS$80 = 10.744
TERER SUS ¢ 80 8621 + 1792 = 10413
RE&FA
TUHFRAEYIR Ayk @125 & 1 + 1 = 1 6.3
[fRE&HEKE]
{REXSUSE HOKEQD)  HKEQ
=L ¢80 ® 2 0.269 0269 x( 1 + 1 ) = 0538 19.0
{REXSUSE A AV Y
EHREE ¢ 80 & 2 0.400 0400 x( 1 + 1 ) = 0.800 6.8
{REXSUSE 2 x 2T
EREE $ 80 & 1 0016 0016 x( 1 + ) = 0.016 1.4
(REHEKE)
REER  SUS$80 = 1.354
(REHEKE)
TERER SUS ¢ 80 0685 -+ 0669 = 1.354
HEAE
4165.5
HE EENES
H# I3V E ¢ 75 RF+7.5K e 1 1 = 1 B

RF!)7'{t&-SUS BN REKTE
779 B F ¥ @75 7.5K # 1 1 = 1




SUS ¢ 150 ¢ 8OIRERETRR (M) T. PEP¢20 » ¢ 25(R#GKEMR (WD) T HEFTES

EfE- 0% :SUS @ 150mm:L=288.418m(287.618m)+2.683m(2.183m)=291.101m(289.801m)

SUS ¢ 80mm: L=8.621m+2.123m(1.823m)=10.744m(10.444m)

MNLYE SUS ¢ 80mm:L=0.685m+0.669m=1.354m

R#EIK : @ 20mm X 5 AT+ ¢ 26mm X 1 FE AT

TR (R E) THRY 095m~050m~FaH. (RHAsKE) LAY :0.50m~ ki NO. 9
&g 4 R
IiE g _# BRTZE s % & B _Z
FE ERT)
HER-AIER Sus ENCiS mtEE
{REZSUSEMEZT ¢ 150 m 288.7) 291.101 - 0446 X 1 - 0202 X 6
N7
- 0387 x 2 = 288.669
HER-AIER ENCVIS N7
{REZSUSEMEZT ¢ 80 m 10.2| 10.744 - 0293 X 1 - 0269 X 1 = 10.182
B -AER E-bd  IME-ALT F-R F-A I
REXSUSEMFT ¢ 150 =] 124 14 + 4+ + 1 +
[ERWIVE S 9 7 VY A F-2 By 20 HRHi25 EfZ2
86 + 3 + 5 + 4 4+ 2 4+ 1x2
B2V EREYY TERRAE
+ 1 + 1 + 1 = 124
B -AER E-Ibd  IME-ALT F-R F-A UK
REXSUSEMFT ¢80 =] 14 1 + 2+ + 1 +
By IR F-2 F-A "5
5  + + 1 + 4 = 14
HER-AIER HR 20 HRH25
REEERMAT ¢ 150 = 6/ 5 + 1 = 6
B -AER
REERFHET 7.5K = 2 2 = 2
B -AER
RECHKZEET BO ¢80x 65 | H 1 1 = 1
B -AER
RENVTRET ¢ 150 = 2 2 = 2
B -AER
RENVTRET $ 80 = 1 1 = 1
H%ER
THIKER T $200x ¢150 | EEFRF 1 1 = 1
I7HEAL ¢ 150 (&7 1 1 = 1
BEER
THIKER T b75% p75 (&7 1 1 = 1
K S # HHG%ER
BRET ¢ 200 (&7 1 1 = 1
EREE
I3V HMET $ 150 7.5K [m] 2 2 = 2
EREE
I3V HMET $80 75K [m] 1 1 = 1
B &770Y
IV BFRSLT ¢ 150 7.5K =] 1 1 = 1
¢ 150
Bt FERET H=0.70 (&7 11 = 1




SUS ¢ 150 ¢ 8OIRERETRR (M) T. PEP¢20 » ¢ 25(R#GKEMR (WD) T HEFTES

SUS ¢ 80mm: L=8.621m+2.123m(1.823m)=10.744m(10.444m)
FLYE SUS ¢ 80mm:L=0.685m+0.669m=1.354m
R#EIK : @ 20mm X 5 AT+ ¢ 26mm X 1 FE AT

HEREHE (RFRE) £HY:0.95m~050m~FEH. (RIEKE) LY 050m~FEH NO,
&g 4 R
T7E £ # BRT % s % & &
F% | [RBEHKERTI])
EE - fEN
RERSUSEMERT ¢80 m 14 0685 + 0.669 = 1354
HBEE - fIEN IVE NI ERSZ
RERSUSEMFT ¢80 =] 4 2 +1x2 = 4
EE - fEN
RENVTRET $80 = 2 2 = 2
avhy—EIFL BlIFL#Z ¢ 200 7 2 2 BRI = 2
vyl HIFLZE ¢ 150 7 1 1 ERER IS = 1

(BhEa ) —h) 1.20%X055%1.75 | EAr

—_

K S Y15+ ¢ 200(DIPFR)

B ) —hT 18N-8-20 m® 1.1 (1.20x 055- 7r/4 x 022°) X 1.75 = 1.088

FAERZRET INBI(T) m? 3.2 (120+1.75) X 2 X 055- ;r/4 x 022> x 2 = 3.169




SUS ¢ 150 ¢ 8OIRERETRR (M) T. PEP¢20 » ¢ 25(R#GKEMR (WD) T HEFTES

EfE- 0% :SUS @ 150mm:L=288.418m(287.618m)+2.683m(2.183m)=291.101m(289.801m)

SUS ¢ 80mm: L=8.621m+2.123m(1.823m)=10.744m(10.444m)

MNLYE SUS ¢ 80mm:L=0.685m+0.669m=1.354m

R#EIK : @ 20mm X 5 AT+ ¢ 26mm X 1 FE AT

HEREHE (RFRE) £HY:0.95m~050m~FEH. (RIEKE) LY 050m~FEH NO., 9
&g 4 R
TiE g _# BRTZE s % & B _Z
23
FE [#£T)
B -AER
REXSUSEHET ¢ 150 m 288.7| 288.669 = 288.669
B -AER
REXSUSEHET ¢80 m 102 10.182 = 10.182
B -AER
REESUSEHFINLT ¢ 150 [m] 124 124 = 124
B -AER
REESUSEH#FINLT ¢80 [m] 14 14 = 14
B -AER
REEERET ¢ 150 = 6 6 = 6
B -AER
REESFAHET 7.5K = 2 2 = 2
B -AER
RECHRERET BOR ¢80%x ¢p65 1 1 = 1
B -AER
RENVTEET ¢ 150 = 20 2 = 2
B -AER
RENVIEBET $ 80 = 1 1 = 1
EREE
IV BFRSALT ¢ 150 7.5K =] 20 2 = 2
EREE
IV BFRSALT $80 7.5K =] 1 1 = 1
130V E
73V MET $ 150 7.5K [m] 2 2 = 2
130V E
I3V HMET $80 75K [m] 1 1 = 1
18-8-20 (Bl 7L ¢ 200) T/4 x 020% x 015 x 2 EpF = 0009 a7#EIR
-+ T t=15cm m? 0.01 (HIFL1E ¢ 150) /4 x 0152 x 015 x 1 &FF = 0003 o7#EIR
& = 0012
[REEHKERMET]
B -AER
REXSUSEHET ¢80 m 14 1.354 = 1354
B -AER
REESUSEMFESILT ¢80 a 4 4 = 4
B -AER
RENVIEBET $ 80 = 20 2 = 2




SUS ¢ 150 ¢ BOIRERERR (B T. PEP 620 « ¢ 25(RIEKEMR (DS T HESTES
R O%:SUS ¢ 150mm : L=288.418m(287.618m)+2.683m(2.183m)=291.101m(289.801m)
SUS ¢ 80mm : L=8.621m+2.123m(1.823m)=10.744m(10.444m)
FLYE SUS ¢ 80mm:L=0.685m+0.669m=1.354m
R#EIK : @ 20mm X 5 AT+ ¢ 26mm X 1 FE AT
HEREHE (RFRE) £HY:0.95m~050m~FEH. (RIEKE) LY 050m~FEH NO., 9
&g 4 R
TiE g _# BRTZE s % & B _Z
FE [£T] [frE%]
¢ 150
+TI® E &4 8 (5-10-10) | m 32.0 1.9 28.7 1.4 32.0
¢ 80
+TT® FEEEG-10-10) | m 1.3 1.3 1.3
7K ¢ 200 % ¢ 150
) E &4 8 (5-10-10) | m 0.9 0.9 1 & 0.9
KL F ¢ 200
s () EE 48 (5-10-10) | m 1.8 1.8 1 & 1.8
KL F ¢ 75
G FEEEG-10-10) | m 1.1 1.1 1 @ 1.1
[#=]
¢ 150
+T® E#E %8 (B-10-10) | m 32.8 1.9 28.7 1.4 08 32.8
¢ 80
+TT® FEEEG-10-10) | m 18 1.8 1.8




SUS® 150 ¢ 8OIRERETRR (M) T. PEP¢20 » ¢ 25{R#GKEMR (WD) T HEFTE

=

SUS ¢ 80mm: L=8.621m+2.123m(1.823m)=10.744m(10.444m)

MNLYE SUS ¢ 80mm:L=0.685m+0.669m=1.354m

R#EIK : @ 20mm X 5 AT+ ¢ 26mm X 1 FE AT

HEREHE (RFRE) £HY:0.95m~050m~FEH. (RIEKE) LY 050m~FEH NO., 9
&g 4 R
TiE £ # BRTZE s % & B _Z
F% | [RBHBKERHRT)
MIf 447°A TR
RiGKEERT PEP ¢ 20 AT 2 2 L=5.0m
MIf 447'B TR
RiGKEERT PEP ¢ 20 &R 3 3 L=1.0m
MIf 447°C
RiGKEERT PEP ¢ 25 AT 1 1 L=2.0m
[RERHEKERET]
447A THE
RIEKERET PEP ¢ 20 &R 2 2 L=5.0m
447'B THE
RIEKERET PEP ¢ 20 &R 3 3 L=1.0m
447°C
RiGKERMET PEP ¢ 25 (&7 1 1 L=2.0m
[+ 1]
[frE%]
$20-25 447'B 447°C
EEETO EESHE(G-10-10) | m 25 05 x 3FEF + 10  x 1 2.5
[#X]
$20-25 447'B 447°C
EEET@D EESE(G-10-10) | m 25 05 x 3FEF + 10  x 1 2.5




No. 9-1 NO. 1 +ID NO. 2 +I©Q NO. 3 +I0Q NO. 4 +I® NO. 5 +I6 NO. 6 NO. 7 NO. 8
RERE (H2R) 320 =EEL 1.3 =EE L 1.0 =@ N 1.0 =@ N 1.0 =@ N SEE L SEE L SEE L
SER L SER L =& N =& N =& N SER L SER L SER L
& # iR % MRS ar
AsEizE 2.00 64. 00 2.00 2.60 4. 60 4.60 6. 40 6.40 4.00 4.00 ( 81.60)(
I T t=15cmA T m
AsEizE 0.60 19. 20 0. 60 0.78 1.26 1.26 2.52 2.52 0.99 0.99 ( 24.75)|(
SHERRIERT | t=10cm T m2
BHO. 28m3 0.37 11. 84 0.38 0.49 1.76 1.76 3.51 3.51 0.82 0.82 ( 18.42)|(
HEARPRYE T Myt m3
BHO. 28m3 0.86 0. 86 0. 66 0. 66 0.48 0.48 ( 2.00)¢(
HIERT BEW m3
BHO. 28m3 0.30 9.60 0.33 0.43 0.63 0.63 1.26 1.26 0.15 0.15 ( 12.07)(
HIERT FEL m3
(RC-40) ( K
TrERET t=15cm m2
(RC-30) 0. 60 19. 20 1.26 1.26 2.52 2.52 0.99 0.99 ( 23.97)¢(
TrERET t=10cm m2
(RM-40) ( K
BT t=17cm m2
(RM-30) 1.26 1.26 2.52 2.52 0.99 0.99 C 477)H|(
LB T t=12cm m2
(RM-30) 0. 60 0.78 ( 0.78)¢(
BT t=10cm m2
BAEFH As13mm 0. 60 19. 20 0. 60 0.78 1.26 1.26 2.52 2.52 0.99 0.99 ( 24.75)|(
ERE{REIH t=3cm m2
RitunT 0.04 1.28 0.01 0.01 1.06 1.06 2.1 2.1 0.65 0. 65 (5. 11)[(
(£#) 4tDT m3
BRitunT 0.03 0.96 0.03 0.04 0. 06 0. 06 0.13 0.13 0.05 0.05 ( 1.24)|(
(AS) 41DT m3
ZAE 0.07 2.24 0.07 0.09 0.13 0.13 0.29 0.29 0.12 0.12 ( 2.87)¢(
AS5% t
EESHE 0. 60 19. 20 1.26 1.26 2.52 2.52 22.98
BRE{REIR (5-10-10) m2
TEEE 0. 60 0.78 0.99 0.99 1.77
BRE{REIR (5-10-10) m2




T I % B * i =
No. 9-2 NO. 1 +ID NO. 2 +I©Q NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
RERE BE) 328 =EEL 1.8 =EE L SEE L SEE L “EE L SEE L SEE L SEE L
SER L SER L SER L SR L SR L SR L SHEER L SHEER L
& # iR % BWEEE
As&hzEhR ( ) (¢
I T t=15cmA T m
AsEizE 0.60 19. 68 0. 60 1.08 (20.76 )| (
SHERRIERT | t=10cm T m2
BHO. 28m3 0.36 11. 81 0.38 0.68 ( 12.49)(
HEARPRYE T Myt m3
BHO. 28m3 ( ) ¢
HIERT BEW m3
BHO. 28m3 0.25 8.20 0.26 0.47 ( 8.67)(
HIERT FEL m3
(RC-40) ( K
TrERET t=15cm m2
(RC-30) 0. 60 19. 68 0. 60 1.08 (20.76 )| (
TrERET t=10cm m2
(RM-40) ( K
BT t=17cm m2
(RM-30) 0. 60 19. 68 0. 60 1.08 (20.76 )| (
LB T t=12cm m2
(RM-30) ( K
BT t=10cm m2
BAEFH As13mm 0. 60 19. 68 0. 60 1.08 (20.76 )| (
ERE{REIH t=3cm m2
RitunT 0.08 2.62 0.09 0.16  2.78)¢(
(£#) 4tDT m3
BRitunT 0.02 0. 66 0.03 0.05 C 0.71)|(
(AS) 41DT m3
ZAE 0.04 1.31 0.07 0.13 ( 1.44)|(
AS5% t
EESHE 0. 60 19. 68 19. 68
BRE{REIR (5-10-10) m2
TEEE 0. 60 1.08 1.08
BRE{REIR (5-10-10) m2




T I % B * i =
No. 9-3 0.1 R+ TD | NO.2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
RERIAKE (Th5R) 25 =EEL SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SR L SR L SR L SER L SER L SER L SER L SER L fR#EK
& # iR % hE% &t
AsEfzE 2.00 5.00 ( 5.00)
I T t=15cmA T m
AsEizE 0.50 1.25 ( 1.25)
SHERRIERT | t=10cm T m2
BHO. 13m3 0.24 0. 60 ( 0.60)
HEARPRYE T Myt m3
BHO. 13m3 0.1 0.28 ( 0.28)
HIERT BEW m3
BHO. 13m3 0.09 0.23 ( 0.23)
HIERT FEL m3
(RC-40) ( )
TrERET t=15cm m2
(RC-30) 0.50 1.25 ( 1.25)
TrERET t=10cm m2
(RM-40) ( )
BT t=17cm m2
(RM-30) ( )
LB T t=12cm m2
(RM-30) ( )
BT t=10cm m2
BAEFH As13mm 0.50 1.25 ( 1.25)
ERE{REIH t=3cm m2
RitunT 0.14 0.35 ( 0.35)
(£#) 2tDT m3
RitunT 0.03 0.08 ( 0.08)
(AS) 2tDT m3
ZAE 0.07 0.18 ( 0.18)
AS5% t
EESHE 0.50 1.25 1.25
BRE{REIR (5-10-10) m2
TEHEE
BRE{REIR (5-10-10) m2




T I % B * i =
No. 9-4 NO.1  {R#A+TD NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
REREAKE E) 25 =EEL SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SR L SR L SR L SER L SER L SER L SER L SER L fR#EK
& # iR % BE i
AshiE ( )
I T t=15cmA T m
AsEizE 0.50 1.25 ( 1.25)
SHERRIERT | t=10cm T m2
BHO. 13m3 0.25 0.63 ( 0.63)
HEARPRYE T Myt m3
BHO. 13m3 ( )
HIERT BEW m3
BHO. 13m3 0.14 0.35 ( 0.35)
HIERT FEL m3
(RC-40) ( )
TrERET t=15cm m2
(RC-30) 0.50 1.25 ( 1.25)
TrERET t=10cm m2
(RM-40) ( )
BT t=17cm m2
(RM-30) 0.50 1.25 ( 1.25)
LB T t=12cm m2
(RM-30) ( )
BT t=10cm m2
BAEFH As13mm 0.50 1.25 ( 1.25)
ERE{REIH t=3cm m2
RiunT 0.09 0.23 ( 0.23)
(£#) 2tDT m3
RitunT 0.02 0.05 ( 0.05)
(AS) 2tDT m3
ZAE 0.04 0.10 ( 0.10)
AS5% t
EE S
BRE{REIR (5-10-10) m2
TEEE 0.50 1.25 1.25
BRE{REIR (5-10-10) m2




T = BHOx
No. 9-5
KR E (%51 No. 9-1 No. 9-2 No. 9-3 No. 9-4
e E BWEEE R#EKFEE & RIEKEE &
& # iR % & F BEHE
AsthzE ( 81.60) ( ) ( 5.00 ) ( ) 86.60 )| ( 87)
YN T t=15cmL T m
As&h%ERR (BHO. 28m3) ( 24.75) ( 20.76) ( ) ( ) 45.51 )| ( 46 )
SHERRIERT | t=10cm T m2
As&hZERR (BHO. 13m3) ( ) ( ) ( 1.25) ( 1.25) 2.50 ) ( 3)
SHERRIERT | t=10cm T m2
BHO. 28m3 ( 18.42) ( 12.49) ( ) ( ) 30.91 ) ( 30)
HEARERIE T Myt m3
BHO. 13m3 ( ) ( ) ( 0.60 ) ( 0.63) 1.23)|( 1)
HEARPRYE T Myt m3
BHO. 28m3 ( 2.00) ( ) ( ) ( ) 2.00 ) ( 2)
HIERT BEW m3
BHO. 13m3 ( ) ( ) ( 0.28) ( ) 0.28)|( 0.3)
HIERT BEW m3
BHO. 28m3 ( 12.07) ( 8.67) ( ) ( ) 20.74 )| ( 20 )
HIERT FHEL m3
BHO. 13m3 ( ) ( ) ( 0.23) ( 0.35) 0.58 ) ( 0.6)
HIERT FEL m3
(RC-30) ( 23.97) ( 20.76) ( 1.25) ( 1.25) 47.23 )| ( 47)
TrERET t=10cm m2
(RM-40) ( ) ( ) ( ) ( ) K )
LB T t=17cm m2
(RM-30) ( 4.77) ( 20.76) ( ) ( 1.25) 26.78 )| ( 27)
BT t=12cm m2
(RM-30) ( 0.78) ( ) ( ) ( ) 0.78 )| ( 0.8)
LB T t=10cm m2
BAEFH As13mm ( 24.75) ( 20.76) ( 1.25) ( 1.25) 48.01 ) ( 48 )
ERE{REIR t=3cm m2
BIunT ( 5.11) ( 2.78) ( ) ( ) 7.89 ) ( 8)
(£#) 4tDT m3
RitunT ( ) ( ) ( 0.35) ( 0.23) 0.58 ) ( 0.6)
(£#) 2tDT m3
BIasT ( 1.24) ( 0.71) ( ) ( ) 1.95)|( 2)
(AS) 41DT m3
RitunT ( ) ( ) ( 0.08) ( 0.05) 0.13)( 0.1)
(AS) 2tDT m3
ZAE ( 2.87) ( 1.44) ( 0.18) ( 0.10) 4.59 )| ( 4.6)
AS5% t
EESHE 22.98 19. 68 1.25 43.9
BRE{REIR (5-10-10) m2
TEEE 1.77 1.08 1.25 4.1
BRE{REIR (5-10-10) m2




T I #% E & & EBE
No, 1
a5 = @D  SUS$150 L= 32.0 m (T770F)
Bt #r = [EEAEG-10-10) H= 0.50 m
gEREE = 0170 X 0170 X =z / = 0.023
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
A B - 1.00 X 0.60 X( 0.67 — 0.05 )= m3 0.37
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.54 — 0.023 = m3 0.30
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.37 —( 0.30 =+ 0.90 )= m3 0.04
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR77 /b 0.03 X 220 = ¢ 0.07




T I #% E & & EBE
No,2
a5 = @ SUS$80 L= 1.3 m (T770F)
Brigis B = B #E(G-10-10) H= 0.60 m
EHEEE = 0090 X 009 X =z / = 0.006
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
1 BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 0.69 — 0.05 )= m3 0.38
I T BHO.28m3
S NFEIED PR m3
I T BHO.28m3
LG TN A 1.000 X 0.60 X 0.56 — 0.006 = m3 0.33
TSI T (RC-30)
t=10cm mZ2
/BT (RM-30)
t=10cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT wmElE WAL
FEAA 1+ 0.38 —( 0.33 = 0.90 )= m3 0.01
FELH T 4tDT
FEAB TAT7 MR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TAZ7 b 0.03 X 235 = ¢ 0.07




T I #% E & & EBE
No,3
WraES = @ DIPg200 L= 0.9 m X1EFr=0.9m (FEATFE)
Bt #r = [EEAREG-10-10) H= 0.95 m
R = 0220 X 0220 X x/1 X 0.90 = 0.034 (KE)
s = 0170 X 0170 X x,/1 X 0.70 = 0.016 (GUEE)
15972450
% B EA H | & & i =
BRI T
AsEREM t=15cmL 090 X 2 + 140 X 2 = m 4.60
LN T
ASEBHEMG t=10cmd T 0.90 X 1.40 = m2 1.26
A T. BHO.28m3
W A BEE A 090 X 1.40 X ( 1.47 — 0.05 )— 0.034 =| m3 1.76
HHEE T BHO.28m3
LLNFEESD AR 0.90 X 1.40 X 0.72 — 0.034 — 0.016 =| m3 0.86
HHEE T BHO.28m3
LGRS FAE A 0.90 X 1.40 X 050 = m3 0.63
TSR T (RC-30)
t=10cm 0.90 X 1.40 = m2 1.26
/BT (RM-30)
t=12cm 0.90 X 1.40 = m2 1.26
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 0.90 X 1.40 = m2 1.26
T T 4DT #EEl = WAL
FEASL 1 1.76 —( 0.63 =+ 0.90 )= m3 1.06
FE T 4DT
TGS TR 0.90 X 1.40 X 0.05 = m3 0.06
TAE
TR77 /b 0.06 X 220 = ¢ 0.13




T I #% E & & EBE
No,4
BrigiEe = @ DIP$200 L= 1.8 m XIET=18m (FEAKALLIR)
Bt #r = [EEAREG-10-10) H= 0.95 m
B = 0220 X 0220 X x/1 X 180 = 0.068
S pEsE = 1,200 X 0.550 X 1.750 = 1.155
15972450
% B s = E H | & & =
BRI T
AsEHRERE t=15cmbL T 1.80 X 2 4+ 140 X 2 = m 6.40
LN T
AsBHEER t=10cmll 1.80 X 1.40 = m2 2.52
A T. BHO.28m3
BRI A BEE - 1.80 X 1.40 X ( 1.47 — 0.05 )— 0.068 =| m3 3.51
HHEE T BHO.28m3
LLNFEESD AR 1.80 X 1.40 X 0.72 — 1.155 = m3 0.66
HHEE T BHO.28m3
LGRS FAE A 1.80 X 1.40 X 0.50 = m3 1.26
TSI T (RC-30)
t=10cm 1.80 X 1.40 = m2 2.52
/BT (RM-30)
t=12cm 1.80 X 1.40 = m2 2.52
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.80 X 1.40 = m2 2.52
LML 4DT wmElE WAL
FBUAL | 351 —( 1.26 + 0.90 )= m3 2.11
FE T 4DT
TGS TR 1.80 X 1.40 X 0.05 = m3 0.13
TAE
TR 7/ 0.13 X 220 = ¢ 0.29




i

T T H E i B

No,5
WrEES = & VP75 L= 1.1 m XIEgr=11m (AT FEE)
By = i #E(G-10-10) H= 0.60 m
R = 0090 X 0.090 X x,/1 X 110 = 0.007 (KE)
B = 0090 X 0090 X x,/1 X 045 = 0.003 (GMEE)
15972450
% B EA H | & & i =
BRI T
AsEHRERE t=15cmbL T .10 X 2 4+ 090 X 2 = m 4.00
LERIE 1. BHO.28m3
AsEHEEIR t=10cmbd 1.10 X 0.90 = m2 0.99
I T. BHO.28m3
BRI A BEE - 110 X 0.90 X( 0.89 — 0.05 )— 0.007 =| m3 0.82
HHET. BHO.28m3
LN AR .10 X 0.90 X 0.49 — 0.007 — 0.003 =| m3 0.48
HHET. BHO.28m3
BN FEAE A .10 X 090 X 0.15 = m3 0.15
TSI T (RC-30)
t=10cm 1.10 X 0.90 = m2 0.99
/BT (RM-30)
t=12cm 1.10 X 0.90 = m2 0.99
BRIBTITE H (A #As 1 Smm, A 77)
=3cm 1.10 X 0.90 = m2 0.99
TEFHGy 1. 4eDT e+ T
FBUAL | 0.82 —( 0.15 =+ 0.90 )= m3 0.65
FE T 4DT
TGS TR 1.10 X 0.90 X 0.05 = m3 0.05
EIN:
TR 7 0.05 X 235 = ¢ 0.12




T I #% E & & EBE
No, 1
s = @D  SUS$150 L= 32.8 m (HEHE)
Bt #r = [EEAEG-10-10) H= 0.50 m
gEREE = 0170 X 0170 X =z / = 0.023
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsEHHEIR t=15cmIL T 0.00 X 2 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
W A BEE A 1.00 X 0.60 X( 0.67 — 0.03 )— 0.023 =| m3 0.36
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
LN FEAE A 1.00 X 0.60 X 042 = m3 0.25
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.36 —( 0.25 = 0.90 )= m3 0.08
FE T 4DT
TGS TR 1.00 X 0.60 X 0.03 = m3 0.02
TAE
TR 7/ 0.02 X 220 = ¢ 0.04




T I #% E & & EBE
No,2
s = @ SUS$80 L= 1.8 m (L)
Bt 7 = B FE(5-10-10) H= 0.60 m
EHEEE = 0090 X 009 X =z / = 0.006
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 0.00 X 2 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.69 — 0.05 )= m3 0.38
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 044 = m3 0.26
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.38 —( 0.26 = 0.90 )= m3 0.09
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 235 = ¢ 0.07




+ I # it B =
No, 1
Wi Es = KD PEP$20:25 L= 2.5 m
Brigis B = [HEAFEG-10-10) H= 0.50 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
- A - FEE A 1.00 X 0.50 X( 0.53 — 0.05 )= m3 0.24
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
T BHO. 13m3
LG TN A 1.00 X 050 X 0.17 = m3 0.09
AT (RC-30)
t=10cm 1.00 X 0.50 = m2 0.50
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
LG T 2tDT Al AL
FEAS 177 0.24 —( 0.09 = 0.90 )= m3 0.14
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 050 X 0.05 = m3 0.03
TAE
TAT7 /iR 0.03 X 220 = t 0.07




T I #% E & & EBE
No, 1
WA = ki@ PEP$20:25L= 2.5 m (EHE)
Bt #r = [EEAEG-10-10) H= 0.50 m
EHEEE = 0030 X 0030 X =z / = 0.001
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 0.00 X 2 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
A T BHO.13m3
BRI A BEE - 1.00 X 050 X( 0.53 — 0.03 )— 0.001 =| m3 0.25
HHE T BHO. 13m3
S NFEIED PR m3
HE T BHO. 13m3
BN FEAE A 1.00 X 050 X 0.28 = m3 0.14
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 050 = m2 0.50
LML 2tDT wmElE WAL
FBUAL | 025 —( 0.14 =+ 0.90 )= m3 0.09
FEH T 2tDT
TGS TR 1.00 X 050 X 0.03 = m3 0.02
TAE
TR 7/ 0.02 X 220 = ¢ 0.04
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